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Non-Linear Piecewise Practice

For #1-4, State the domain and range for the function, then determine for what values of the domai
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sy #5-10 Graph each of the following piecewise functions on a separate piece of graph paper.

? fx) = {23"—2 x< =2 6) 3x+3 x<0

' —x+4 x2-2 : fx)={-x+4 0<x<3
{ x? x=3
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: 7) x—2 x< =2 8) 3x—2 x< =2
i 3x 5 x>2 x=2 3<x<4
0 x24
9) -6 x<1 10) ~3xie x<0
f(x) =1 3x 1<x<4 f(x) =4 2x? 0sx<4
! zx_xZ >4 1—x x=4

i

you buy up to 50 bushels of potatoes, you will pay $40/bushel. Then for each bushel you purchase above 50
bushels, you will pay $30/bushei.

a) How much will you pay in total if you decide to purchase 40 bushels? 60 bushels? 78 bushels? 105

bushel? 4o 5 §leo V&2 J2Q¢u 0
by 3 §2200 Jos—> FBSD

li) You are a buyer for a grocery store and you are asked to purchase potatoes. The potato farmer tells you that if .

b) Write a piecewise function that represents the total amount of money that your grocery store will pay

for the potatoes. ) Ltb )i Oé)( Q_SD
A0 - 2000430 (x-sv) X>SP

\






|

||
=

|
|

e \\

|ii||||“||\
VS S BN :
|I|-.!II|.|II..|||1|.|..II 1
! | S B
T — I.|I|,|L|I|rllnl.||ill.,i|.1|.i.||1.|l.1|||
| 7 ||.r.||..l1l!||.l__|l|illlslll T CAS
M (SRS N e 3D -—— S MO SR e
. o Jltl e
! _}lllll*\ll —— _
VR T RS AR S S R e
| _ _
]
- I S L |
_ ! BT e e e o |
. =1 & I 1 1 | [ ,
! | | |
| | | |
s e e e e it —— | —— I | !
i _ _— [ DR S
._ _ 7 * _ _
] IR S S |
_ !\"Illnll\
i _ - ‘
_ b e ———
]
|

P

=

| | | .
| | L.I. R I S |T>__ 1" I DO N S S
r | I ! Y~ i ] | ! .



",1- ’ﬁl' -LIL

4

.\“’

Ed

PN
M

T

L Lt AL |
bt iU\f - £ | S A, | (el | (RS .FFJ
) me
NN |



L % = 3% 5 loiseimels

lu = Cos¥x
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6O 2000+ )02 = § 2200

1< 2000+23(20)= $2 FHO

[0S 72000 +55.(20) =8 ASD

b, (__Lox 04X &5b
| C(x) -

/Sbo 20X X =S50

2000 x260( x-S0 )

20003 X - /500
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